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usH - 1 / PART - 1

Q.No Type A Type B
1 (@) | 1s2 2s2 2p6 3s2 3p3 (@) | Hemen&edr
) (c) | 1s? 2s2? 2p6 3s2 3p3 (c) | Glycine
5 (®) | Al203.nH>O () | L gze0Ted
' (a) | Al203.nH20 (a) | Methanal
3 (FF) | 30 MBS raiselT () | &S HEOTEMD 2_eMLIIF)
(d) | 30 minutes (a) | Basic
4 (@) | Sn/HCI (w) | FeO
' (c) | Sn/HCI (d) | FeO
5 (&) | ewsGeuTed (@) | BIss Wedtenflemevuied &&Grndledr HIMHLIEGSHSHE
(a) | Methanal (c) | Hydrolysis of sucrose in presence of dil. HCI
6. | @ |[Fe(CO)s (@) | Sn/HCI
(c) | [Fe(CO)s| (c) | Sn/HCI
7 (o) HPOZ (FF) | 1 Gomed eTev&LIMEDTIED SLobhg O1FE0eVLILIBLD Ll6dTENITL L LD
' (a) | HPOZ (d) | charge carried by one mole of electron
3 () | BMTS HEOTEMLD 2_WL IS (®) | Al203.nH20
' (a) | basic (a) | Al2Os3.nH20
9. (@) | Biss wetrerlleneouleh &&HGrndledr BIMDHLIGSS60 () | 30 BISLrhuger
(c) | Hydrolysis of sucrose in presence of dil. HC1 (d) 30 minutes
10, (8) | smeeuT uHeSLB eflement (2) | HPOF
(c) | Nucleophilic Addition (a) | HPOZ
REEE (@) | [Fe(CO)s]
(c) | +3 (c) | [Fe(CO)s]
12 (FF) | 1 Guomeb eTevésL mmenTrTed &obha) OlE6veLILGBID WebtenmLib | (&) | +3
" | (d) | charge carried by one mole of electron (c) | +3
13, (8) | Hlemen&edr (&) | 1s2 2s2 2p6 3s2 3p3
(c) | Glycine (c) | 182 282 2po 3s2 3p3
14, (r) | FeO (&) | eumyeied HiTLob
(d) | FeO (a) | Liquid in gas
5. (@) | eumyedled Biiob (@) | smaeur uHeSLB eflemeot
(a) | Liquid in gas (c) | Nucleophilic Addition
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ugdl — II / PART - 11
Srevor® wdlleetor eflevtnésar. / Two Mark Question

24. Yetreupld elemetteuflemsuieh 2 eiter A wHmID B Gaiomigemer &HevorLmils.

NaNg LiAlHg
CH; - Br A B + Ny

Identify A and B in the following sequence of reactions.

NaN3 L1A1H3
CHs - Br A B+ N>

Answer :

>
I

CHs - N3 (Methyl azide)

B = CHs;- NH: (Methylamine)

NaN3 LHUH3
CH;-Br ——— CH3-N; ——  CH3-NH; + N,

(Methyl Bromide) (Methyl azide) (Methylamine)

us$H — III / PART - III
eped1n) Fllieiesor efleotnéaet. / Three Mark Question
33. [Ag(NH,) 1"
a) Ligand --- NHj3 — Neutral Ligand

(b) Central Metal ion --- Ag*

(c) IUPAC NAME --- diammine silver (I) ion

*khkd
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